SplashLearn

Identify the Expression

Circle the correct expression for each story situation.

@Tim bought 4 baskets of apples. Each basket has 6 apples. Which expression shows the total number of

apples Tim bought?

()

Matt bought 2 packs of pencils. Each pack has 9 pencils. Which expression shows the total number of

pencils Matt bought?

-

Emma has 5 candies. Her brother gifted her 2 more candies on her birthday. Which expression shows
the total number of candies Emma has now?

()

Tod has 5 baskets of fruits. Each basket has 3 fruits. Which expression shows the total number of fruits

Tod has?

(&)

Sandra has 6 baskets of kiwis. Her friend gave her 8 baskets of kiwis. Which expression shows the
number of baskets of kiwis Sandra has now?




